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Solve fractions word problems

At a party there are 10 children. Half of the children are
boys? How many of the children are boys?

There are 8 flowers in a bunch. A quarter of the flowers are
roses. How many of the flowers are roses?

There are 12 sweets in a pack. Three quarters of the sweets
are yellow. How many of the sweets are yellow?

In a multi-pack of crisps there are 15 packs. A third of the
crisps are cheese and onion. How many of the packs are cheese
and onion?
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In a bowl of fruit 1 of out of every 2 fruits is an apple. What
fraction of the fruits are apples?

In a class 1 out of every 3 children is a boy. What fraction of
the class are boys?

At lunch-time 1 out of every 4 children has a packed lunch.
What fraction of the children has a packed lunch?

In a class 3 out of every 4 children eat school dinners. What
fraction of the children eat school dinners?



9)  Phil eats half of a pizza. What fraction of the pizza will be
left?

10) Lisa eats one quarter of a cake. What fraction of the cake will
be left?

11)  Mark eats three quarters of a chocolate bar. What fraction of
the chocolate bar will be left?

12) On a farm there are 18 hens. One third of the hens escape.
How many hens will be left on the farm?



